"'PAPER CODE 2023 (1st-A) s
SSC PART-I (10th CLASS) MTN“ l -2.3

NUMBER: 3833
COMPUTER smENCE (GROUP-I) (NEW COURSE) (k) (g - .,,:/ Yy Sl

TIME ALLOWED: 16 Minutes OBJECTIVE u‘i/w 215 = &y
MAXIMUM MARKS: 10 10= AF

fch b SN AR RL s Wuzfa.le.u‘f.dsy/:,y.m:f u.waC%. D 4 C B A ehzbpldin -2
{,;/,Jb’u‘ | _6’4.,1,7},:;/ /éfufuzﬂu(e’.,—),’d J().vb ..?m:‘.’wgl?uﬁufun‘tfw Jo¥ L L/quuuug:c...f S

the You have four cholces for each objeotlve type question as A, B, C and D, The cholce -u/ J“/ o Uiy
which you think is correct, ﬂn that bubble in front of that question nuniber, on bubble sheet Use marker or pen

to fill the bubbles. Cutting or fllllng two or more bubbles will resuit In zéro mark In that quostlon No credlt will be
awarded in case BUBBLES are mpt filled. Do not solve questions on thig sheet of OBJECTIVE PAPER. '

Q.No:1 ‘ ' A k’)w’.
(1) ______ describes the name, inputs ....;..Lz:..vyih:)*‘u.‘.'z..zgL..*.;&if/..v;,ulaf.g/lulﬁtéw'au{ —
and outputs of the fupction. |
(A) Function declaration u“‘"){iw'"c' (B) Functiot call Jb’;y"ﬁ .
(C) Function signature ﬁ@&g (D) All U
(2) Alisof words that -J;..uf :'II:C/LJWVJ:”&QVt&@‘/?{_.luﬁ;i/lfg{u'umﬂ&a%CS"Z-UZBW'd,,—l 2)
| are predefined and must not be uged by the programmer to name his bwn varigbles aré known as :
(A) Auto words 51JT , (B) Resetved words sl L
(C) Restricted wordé by’ (D) Predefined. words AT
(3) Include statement is written in PO B section. i rw‘fu" u’c o Include (3)
(A) Header sk (B} Main o _ (C).Comments JQX (D) Print 247 -
(4) Symbol of logical AND operation i# N b7 AND J/’ by &)
GRS (8) & © 1l G |
(5) Which Is an sscape ssquence ueed In C-Lanpuags? ?q..SeFuence v@ClJ quxdbv’lu"f/ﬂ c L«ufc:—u"uf ($)
(A) \n @) W ©\a . D)W
(6) Inan if statement, block of statgment is written inside ______. EPSRES ) — (ML pe E ®)
| @ ) RCRE! © 11 -v ® " N
(7) What is the output of the following code? el TS s ()
int x=10; ' int x=10;
if (x>10) if(x>10) _
print f ("Wrong"); print f ("Wrong");
glse olge
) print f (“CorraCt“);» print f ("Correct");
(A) Wro|ng - (B) Correc:t (©) Error (D) No output |
6 mlakas it easler to read and write values in array. -;.W'rwvﬁ:/ ﬁumlb'.‘gw’*za-a.ﬁc:mu(; P @)
(A) loop ¥ B) 1wl () telss U (D) nested if  If 22
@ _____lsaunique dentifier us# to refer to the array. ﬁdﬂ Sl L it -’"f—-‘"l"u’-"‘;vg — @
(A) Data type .;Aqu (B) Afray name k4 (C) Array size /l«b’:..ﬂ (D) None u..”df
(10) The values passed tb a fﬁnctlbq arecalled . o i’ __,_____ ﬂd@,f&é,g ({o)

(A)Bodies z}  (B)Retumtype s (©) Arrays 7/ (D) Arguments SHLT




2023 (1st'A) ‘ A
SSC PART-l (10th CLASS)

L.QMPUTER SCIENCE (GROUP-) (NEW COURSEj () (kg :,;f
TIME ALLOWED: 1.45 Hours SUBJECTIVE o Wil ‘ ,:ef 145 =
MAXIMUM MARKS: 40 ; MTN ~23 40 = ,ﬁf

NOTE: Write same quesﬂo numbet qubJJLﬂg.a{aJlrﬂé b./:/?.?»ﬁ/dly'(ﬁudb’dlf ..L:’

“and Its pPrt number on answer book; as given in the question paper.
' SECTION! Jio

2. Attempt any four parts. | ge=2x4 gff;;’uw&mga..éf 240w
() . What is the difference between variables and constents? W—J)V’u’ & sl 0]
(i)  What is meant by varié\bie iitialization? - | ?q-J'/kf‘—J*/ paGE )
(i What Is meant by body of main() function? | ?4.;0/9’9(5%«,,@"“'@ main() (i)
(iv) Write the purpose of geteh( ). -2 geteh() (V)
ty) Define binary operator. ‘ LI PSrplety W)
(vi)  Write truth table for OR operator‘. ' -MJ&)K};{A OR .(v))
3. Attempt any four parts. | . g=2x4 g fe i 34
()  Write the types of Contrdl Sta}ementq. : W7 /’rlﬁlJ m;}/ 0
(ii) Define if-else statement. '3 ' 7 -g{fv;‘.‘f’&-‘)‘? if-else (i)
(i) Whatls nested selection structuré? , et E U ()
(v) Find errors in following code: -J“/JU?JJ{M:—JJ),J”J%&JJ ()
i@ >10) If (@ > 10)
printf("Good); ' | printf("Good);
(vy Howcan we declaré an array of type Int? ?ujéfkﬁzf/azld;f‘ ¢ oint u{fﬂ )
(i) How would you deciare gnd inifialize Ly Ss u%:w/-!sc;ff‘._./g#:uﬁ.quLLﬁaFg)wJumF.wT i)
a float type array to store height of seven persons? ' ' ,i |
4, Attempt iany four parts. 8=22x4 ' -é;/w&!ﬁé&b@a.éf .Af."Ub’ _
()  WhatisiCounter Variable? ' sl Jusppss O
ahy  Write down the néme of parts of for loop syntdx » %LLQW& (Syntam) ébjé.rﬂ l=or (i
d) Define functions, | EAPSHE W

(v) Howtocalia functionin a mé‘ln program ..g‘;_f;f.:ﬂ" Jé..fd(u:w’ﬁw / & (Show Program) e ‘,ra.,{ ()
if a function name is (Show Program)?

(v) Whatls meant by readabllity in advantages of funetion? v.;.,»w’cw»m{a%wwéuﬁ (V)

(vi)  Write dewn a function s}gnqature e (PR u’ﬁ K'q..t'/uﬁbé/lfu’bﬂq_ﬁé-.wl (int) yats! fl igm.f (i)

if a function takes'an Integer a6 input and returns its’ square.

SECTION-I . (2347

NOTE: Atteti;npt any two questions. 16=8x2 g,’l/ .&,wﬁwmnm,éf o

5. Describe the structure of program in C-language. ' WS Ll 4q“6,ﬁ". 5

8. Whetls Escape sequence? ..q/yumuﬂﬁ‘d'/%r{bwd{ S‘%W’”F?«Pt .8
Expfain any of two escape sequences with examples

7. White & program to print 4+4 -{:;/?'lf /b’l..fu.;:lew..f 10 a 1 anz_fdb’lb’v) for 7

odd numbers from 1 to 10 using for ioop.

5 e i S0



" |PAPER CODE 2023 (1st-A) A

NUMBER: 3836 SSC PART-Il (10th CLASS) M
COMPUTER SCIIIENCE (GROUP-II) (NEW COURSE) (o) (1< ,,,;J' )] u‘“’v;,_«{

TIME ALLOWED: 15 Minutes OBJECTIVE (342 , eo1f =

MAXIMUM MARKS: 10 10= A
Ak ,cmm:wu.,mw% L il dedn s gdsD s CBIA ezl
IRy _ﬁfi.k&:uf/:iéfuﬁwu‘t!&ﬁi J{Js/’b -b’n;rawu,alﬂuﬁu:wu‘tf LSS | L/ﬁu:ﬂmk}&-uﬂ R’y
Note: You have four choices for Pac’ objective type question as A B, C and D. The cholcé ‘ -u‘,.&d"}gz.g«mr
which you think Is correct, fill that bubble In front of that question number, on pubble sheet. Use marker or pen
to fill the bubbles. Cuttin!g or filling two or more bubbles will result In-zero mark In that question. No credit will be
awarded In case BUBBLES arp riot filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A A
g u— defauilt con$}ol structure in G-language. | -?guJ.W,ﬁyw,sgxé,@,c ——
(A) Check control JiAG (B) Sequential control Us2” Jis s
(C) Relational control i il (D) All these Uy |
(2) Ifthe size of an arvay is 100, the range of indexes will be ___._- PR 711 )3'@!?4. 100 Fbei)l (2*‘)
| (A) 0-99 ; (B) 0100 " (€)1+100 (D)2-102
(3) How many times the word "Pdkistan" w!t‘i be printed by following code? %‘2./1&4;;(3"" " wpakistan” &Y WUTa, | (3;)
for (Intx = 1; X <6 x++) for (ntx = 13 x < 8 X+
. :jrlntf("Fakistan"); . ' brlntf("Piaklatan{‘);;
w2 (8) 3 ©) 4 ) 5
(4) A____isablockof staterents that performs 2t (Ju.,g@__/@..gs’ﬁ —— @
a particular task.
() Loop (B) Array </ (©) Funclion ¢#¢ (D) Al these (¥ ,
() _ afunction means to transfer the control to that . _%tf}"l}d:)ﬁu’aubl/:. —— O )
particular function. : , . ‘
() Coding 3 (B) Calling 0¥ (©)Writhg &+ (D) Allthese (¥
(8) There are __l_______ types of cbmrrents in Cdlanguage. : _ -L/”r(gﬂl e S Wé’@'c ®)
(A 2 B 3 ) 4 (D) 5 N
(7) Forinitializing a variable, we use . operator. Ve g ¥ .-____._ﬁé-iid'-—/ FwaP §7)
® —? (B) = © @ ©
@ Scanf()isa 1" Ciprograffiming language. . _____uﬁéﬂ,.ﬁlﬁ4 -C scanf() :(3)
(A) Keyword s . (B) Library (gAY () Function 8 o) File 8 ‘
(9) Thereare types of logical opéfators in G-language. O e J)}:/',IJ”U{;,@.C ©)
(A) 2 " (8 (€) 4 © 5
(10) | : is type of selegtion staternent. ‘ -.{__("Jg,:}:“’fna"_;_‘___ )
(A) Array o (B) Loop ¢ ©if I . (D) Allthese Uy

|
ARV Sﬁ'ﬁhf’if(\.909211si-A\-'1?DOO (MULTAN)
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2023 (1stA) AL
§SC PART-Il (10th CLASS)

COMPUTER SCIENCE (GROUP-Il) (NEW COURSE) (A §) (- o) Slond
TIME ALLOWED: 1.45 Hours SUBJECTIVE Z¥le 145 =
MAXIMUM MARKS: 40 |  MN-2-23 0 a0 = A

i | ) 3 . .
NOTE: Write same question humber _4.@4;w4,441yfz§ @J:/:QZAU:UV@J{QV Qlﬁ -
and its part number oh answer book, as given In the guestion paper.

SECTION- Jile

2. Attempt any four parts. g=2x4 & Jeplinigd 8 24w
(y Whois Programmer? | ?q.t'nuj}l):4 O]
()  Define Syntax error. : AP i (D)
iy Differentlate between v,anable'r and Constant.. - (Vatiable) A il (Constant) < (il
(v)  Define Printf( ) function. _E S5 phnti) W)
(v)  Write down output of the following code segment w %&ifﬁfd!gﬂ )
aL'sume header fles and variable are already declargd. W /ﬁs‘.-..%%!dgwl}%&ﬂzg:u")
Vold main() ‘ Void main()
{
printf("Name: "Ali\r Frame | Raza "); printf("Name: "Allin Fname : Raza "),
} 3
Y ug@d’&.bﬂ,n)fgfut(lﬁ{qﬁé:@,c (vl

(vi) Desctibe the reason behind gompiler errorin a C-language prcljram.

3. Attempt any four parts. gu2x4 i fe L1z 340
()  Define Compound Statement Ay (%o )
()  Write the nested selection structures. .M/gww,{,v; e ()
(i)  Trace rhe arror of the following chde: - Jw"uw TSP ()
f(5==56) ' if(6==5) ‘
{ { i %
Xk ) X+
y# o+, : y+ +;
(iv) How,joes to declare an grrgy in C-language? ?@kk{ﬁ%b}ﬂazluﬁé;@.c (v}
(v)  How does to access an element of an array? WcﬁWJ‘b&MMIL:._/I (}/)
(v Trace an error of the following code: : -U'./J’”'Juﬁ- st (W)
Vold main( ) Void main( ) ‘
{ {
int array[® int -arraylb
}

4. Attpmpt any four parts. g=2 X 4

}
-,«{ji..-auzzuzuga..é! Y

()  Whatls nested loop structure? te s 0
()  Write down the output of the following code segments? T:u-:ﬁ.guf(!uymsfum» )
int 1 int 1;
for (i=1; 1<10; i=i+2) for (1= 1 1<10; [=i+2)
printf.("An ") ; ! printf (" *}n iy
(i)  Define Fynction. _ -g.E..y;’Jw—:p (i)
(v) Whatls n’;\eant by problem solving approach? ?q.:yk‘::—f ..-»A‘;J L/Lh}.’.li’f (iv)
(v| Define Arguments. -5 . j’b’u"")}’( )
e Ml ey S W

(i) How does readabilty help In fuwcﬂons’?

NOTE: Attemptany two nt'questqons'. 16=8x2

5. What I the purposg of com
Desoribe the types of comments.

SECTION-II pue

nents in CrProgram? = 2% 3+3 -{.‘-:c!kru'd/

..g{ guza.’_.}a Yl i,w..éf' o
5

W a0y

-

6. What Is operator? Explain thé Unary and -qwa1¢JJJJW&{3’GﬂLD M ??’ .z Lf ;,/’z T"" -8
. Binary operator with example. ) a '
7. Write a program using 4+ 4 S bf.*){4c{/(‘},§:{~f 80 & 40 lewﬁé_.n{_fdk""f "For Loop" u:éﬁ-‘.c B4

"for lodp" in C-language that print even umbers from 40 {0 80 on the pomputer screen.
: AN 181412000 (MULTAN)




